
WJEC 2014 Online Exam Review

GCE Law LA4 1254-03

All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
1 208 19.6 4.4 25 78.4 83.5
2 225 19.9 4.9 25 79.8 90.4
3 13 17.2 6.7 25 68.6 5.2
4 50 18.7 4.5 25 74.7 20.1
5 60 13.3 6.9 25 53.2 24.1
6 185 14.9 5.5 25 59.5 74.3
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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Option 3: Freedom of the Individual and Protection of Human Rights

SECTION A

Answer two questions from this section.

1. “The introduction of a Bill of Rights would overcome the limitations of the Human Rights Act
1998.” Discuss.	 [25]





















Sticky Note
Excellent coverage of the key sections of the HRA 1998 with supporting legal authority . Good evaluation of a Bill of Rights.  The answer could have been further enhanced with a discussion of current debates within human rights e.g David Cameron's views on the HRA  













Sticky Note
Sound evaluation and knowledge, answer would have been further enhanced by using more supporting case law  
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Option 3: Freedom of the Individual and Protection of Human Rights

SECTION A

Answer two questions from this section.

2. To what extent does the Equality Act 2010 provide a comprehensive system of protection against
unjustifiable discrimination?	 [25]













Sticky Note
Sound knowledge and evaluation shown of discrimination law and  the Equality Act, good supporting case law throughout.   The answer correctly focuses on the Equality Act which has now replaced all pre-existing legislation. Candidates should be encouraged as a matter of good practice to consider  any reforms to current laws 
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Option 3: Freedom of the Individual and Protection of Human Rights

SECTION A

Answer two questions from this section.

4. “The safeguards surrounding the powers of the police to conduct secret surveillance are
inadequate.” Discuss.	 [25]





















Sticky Note
A sound answer, excellent knowledge and evaluation shown  throughout. The answer could have been further enhanced with a discussion of the approach taken to state surveillance in other countries, e.g Canada, America, and also suggest some proposals for reform of the current law. 
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SECTION B

Answer one question from this section.

6. Study the text below and answer the questions based on it.

“The European Court of Human Rights treats the Convention as a living instrument which must
be interpreted in the light of present day conditions. This means that the doctrine of precedent
does not operate in the way that stare decisis operates in Common Law jurisdictions. Instead,
the Court regards its previous decisions as a starting-point rather than as binding precedent,
and any part of the judgement may provide guidance for the interpretation of the Convention in
later cases.”

(a)	 Explain the nature of the European Convention on Human Rights.	 [11]

(b)	 Evaluate the operation of judicial precedent in the law of England and Wales.	 [14]





















Sticky Note
A sound answer fully explaining the impact of the ECHR.





Sticky Note
A  very good description of judicial precedent , lacking in evaluation in parts, candidates should attempt to evaluate throughout the answer, citing key words from the question in their answer aids in this  and keeps candidates focused on the actual question









Sticky Note
A good answer, lacking in supporting case law  





Sticky Note
Good attempt to answer the question, good evaluation shown throughout, using ways to avoid precedent as the main focus for evaluating the operation of precedent; this could have been developed further with a more detailed evaluation of the 1966 Practice Statement and the role of the the Civil Division of the Court of Appeal .   
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GCE LAW – PAPER LA4 (A2)  
 


UNIT 4: UNDERSTANDING LAW IN CONTEXT: 
FREEDOM: THE STATE AND THE INDIVIDUAL 


 
OPTION 3: FREEDOM OF THE INDIVIDUAL AND PROTECTION OF HUMAN RIGHTS 


 
Answer two questions from Section A and one question from Section B 


 
 


SECTION A 
 
Q.1 "The introduction of a Bill of Rights would overcome the limitations of the 


Human Rights Act 1998."  Discuss. [25] 
 


Credit reference to: 


 Lack of a written constitution setting out the rights of people in the UK. 


 Almost all developed countries have a Bill of Rights. 


 The Human Rights Act 1998 is a piece of ordinary legislation which could 
be repealed by any government. 


 The HRA 1998 is based on the ECHR, which is 50 years old and does not 
provide for social, economic or political rights – arguably out of date, and 
inadequate to reflect the needs of the UK.  


 Many ECHR rights are qualified in ways that allow them to be effectively 
circumvented by the UK government.  


 The HRA 1998 does not prevent the government from passing laws which 
are incompatible with convention rights.  


 The HRA 1998 depends upon the willingness of the judges to uphold 
human rights.  


 A bill of rights could be tailored to the needs of the UK. 


 A bill of rights would be entrenched. 


 A bill of rights would place permanent limits upon the actions of the 
executive. 


 A bill of rights might make the government more accountable for it’s 
actions if these could be challenged.  


 Arguments against a bill of rights: gives judges too much power. 


 Makes it very difficult to bring about arguably desirable changes, e.g. gun 
control in the USA. 


 A bill of rights can become ossified and out of date. 


 A bill of rights is no guarantee of protecting human rights – tends towards 
a due process model, as in USA, where the authorities can do as they like 
so long as the procedures are formally compliant with the constitution.  
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Marks 
AO1 


Knowledge and Understanding 


8-9 Candidates display a sound knowledge and understanding of the subject 
content relevant to the question and a good perception of the concepts and 
principles underlying that subject content.  They display a sound 
understanding of the practical application of the law and are aware of 
current debate and criticism, including the major proposals for reform. 


6-7 Candidates display an adequate knowledge and understanding of the 
subject content relevant to the question and have a perception of some of 
the concepts and principles underlying that subject content.  They display a 
general understanding of the practical application of the law and are aware 
of aspects of current debate and criticism. 


3-5 Candidates display a limited knowledge and understanding of the subject 
content relevant to the question with limited insight into some of the concepts 
and principles underlying that subject content.  They display a limited 
understanding of the practical application of the law and are aware in general 
terms of some of the current criticisms. 


0-2 Candidates display a basic knowledge and understanding of the subject content 
relevant to the question and/or identify some of the relevant principles.  They 
demonstrate occasional basic insights into some of the concepts and principles 
underlying the subject content.  They display a basic understanding of the 
practical application of the law. 


  







© WJEC CBAC Ltd. 


100 


Marks 
AO2 


Skills 


11-13 Candidates demonstrate a sound evaluation of how the law operates, or an 
accurate and well-substantiated application of the law to a given factual 
situation. 
This is achieved through their selection of legal authorities, by appropriate 
methodologies and by their ability to apply the law to a given question.  They 
support their conclusions by citation, analysis and analogy. 


7-10 Candidates demonstrate an adequate evaluation of how the law operates, or a 
generally accurate and substantiated application of the law to a given factual 
situation.  This is achieved through their selection of legal authorities, by 
appropriate methodologies and by their ability to apply the law to a given 
question. They support their conclusions by citation. 


3-6 Candidates demonstrate a limited evaluation of some of the points of how the 
law operates, or apply the law to a given factual situation in a partly accurate 
and occasionally unsubstantiated way.  This is achieved through a limited 
selection of legal authorities and limited ability to apply the law to a given 
question. 


0-2 Candidates demonstrate a basic evaluation of one of the simpler points of how 
the law operates or apply the law to a given factual situation in a generally 
inaccurate and unsubstantiated way.  There will be little or no reference to legal 
authorities and points will not be developed.  There will be very limited evidence 
of structure in the candidate's response. 


 


Marks AO3 


3 Presents a wholly logical and coherent argument and provides clear application 
using appropriate legal terminology.  This does not mean that there are no 
errors in grammar, punctuation and spelling but these will only be occasional. 


2 Presents a mostly logical and coherent argument and provides a reasonably 
adequate application using appropriate legal terminology.  Whilst there may be 
errors in grammar, punctuation and spelling, these are not enough to detract 
from a mostly effective communication of meaning. 


1 Presents effective communication using appropriate legal terminology. 
Nonetheless, there may be several errors in grammar, punctuation and spelling, 
although not enough to detract from communication of meaning. 


0 Fails to communicate and present logical argument, including inadequate use 
of legal terminology.  There are significant errors of grammar, punctuation and 
spelling which detract from communication of meaning. 
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Q.2 To what extent does the Equality Act 2010 provide a comprehensive system of 
protection against unjustifiable discrimination? [25] 


 
Credit reference to: 


 Equality Act 2010 – codifies and clarifies previous legislation. 


 Protected categories – sex, race/ethnicity, religion, age, disability, sexual 
orientation, gender reassignment, martial status, pregnancy, maternity.  


 Meaning of direct discrimination with examples from case law. 


 Meaning of indirect discrimination with examples from case law. 


 Discrimination on the basis of presumed characteristics.  


 Discrimination on grounds of association (e.g, carers). 


 Victimisation.  


 Harassment.  


 Post-employment discrimination.  


 Remedies: Employment Tribunal can now make recommendations going 
beyond the instant case. 


 


Marks 
AO1 


Knowledge and Understanding 


8-9 Candidates display a sound knowledge and understanding of the subject 
content relevant to the question and a good perception of the concepts and 
principles underlying that subject content.  They display a sound 
understanding of the practical application of the law and are aware of 
current debate and criticism, including the major proposals for reform. 


6-7 Candidates display an adequate knowledge and understanding of the 
subject content relevant to the question and have a perception of some of 
the concepts and principles underlying that subject content.  They display a 
general understanding of the practical application of the law and are aware 
of aspects of current debate and criticism. 


3-5 Candidates display a limited knowledge and understanding of the subject 
content relevant to the question with limited insight into some of the concepts 
and principles underlying that subject content.  They display a limited 
understanding of the practical application of the law and are aware in general 
terms of some of the current criticisms. 


0-2 Candidates display a basic knowledge and understanding of the subject content 
relevant to the question and/or identify some of the relevant principles.  They 
demonstrate occasional basic insights into some of the concepts and principles 
underlying the subject content.  They display a basic understanding of the 
practical application of the law. 
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Marks 
AO2 


Skills 


11-13 Candidates demonstrate a sound evaluation of how the law operates, or an 
accurate and well-substantiated application of the law to a given factual 
situation. 
This is achieved through their selection of legal authorities, by appropriate 
methodologies and by their ability to apply the law to a given question.  They 
support their conclusions by citation, analysis and analogy. 


7-10 Candidates demonstrate an adequate evaluation of how the law operates, or a 
generally accurate and substantiated application of the law to a given factual 
situation.  This is achieved through their selection of legal authorities, by 
appropriate methodologies and by their ability to apply the law to a given 
question. They support their conclusions by citation. 


3-6 Candidates demonstrate a limited evaluation of some of the points of how the 
law operates, or apply the law to a given factual situation in a partly accurate 
and occasionally unsubstantiated way.  This is achieved through a limited 
selection of legal authorities and limited ability to apply the law to a given 
question. 


0-2 Candidates demonstrate a basic evaluation of one of the simpler points of how 
the law operates or apply the law to a given factual situation in a generally 
inaccurate and unsubstantiated way.  There will be little or no reference to legal 
authorities and points will not be developed.  There will be very limited evidence 
of structure in the candidate's response. 


 


Marks AO3 


3 Presents a wholly logical and coherent argument and provides clear application 
using appropriate legal terminology.  This does not mean that there are no 
errors in grammar, punctuation and spelling but these will only be occasional. 


2 Presents a mostly logical and coherent argument and provides a reasonably 
adequate application using appropriate legal terminology.  Whilst there may be 
errors in grammar, punctuation and spelling, these are not enough to detract 
from a mostly effective communication of meaning. 


1 Presents effective communication using appropriate legal terminology. 
Nonetheless, there may be several errors in grammar, punctuation and spelling, 
although not enough to detract from communication of meaning. 


0 Fails to communicate and present logical argument, including inadequate use 
of legal terminology.  There are significant errors of grammar, punctuation and 
spelling which detract from communication of meaning. 
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Q.4 "The safeguards surrounding the powers of the police to conduct secret 


surveillance are inadequate."  Discuss. [25] 
 


 Art.8 of the ECHR gives a right to a private and family life - a qualified right 
which can be restricted, inter alia, for the prevention of disorder or crime. 


 Candidates may mention the background to current legislation regulating 
surveillance; cases such as Malone v UK, Khan v UK. 


 Candidates should refer to the Police Act 1997 and the Regulation of 
Investigatory Powers Act 2000. 


 Police Act 1997 III, give police power to enter premises and plant surveillance 
devices without a warrant (the "bug and burgle" power). 


 Section 93 give power to enter premises without a warrant and interfere with 
wireless telegraphy. 


 Section 92 give absolute immunity against criminal prosecution or civil suit for 
any action authorised under the Act. 


 Authorisation can be given by the Chief Constable or Assistant Chief 
Constable (s.94). 


 Basis for authorisation: that the authorising officer believes the action to be 
necessary because it will be a substantial value in the prevention or detection 
of serious crime, and that the action is proportionate (s393(2)). 


 "Serious crime" is widely defined as crime which involves the use of violence 
or results in substantial gain, or is conduct by a larger number of persons in 
pursuit of a common purpose.  The offence must be for which a person over 
21 with no previous convictions could expect a sentence of 3 years or more. 


 Authorisation should normally be in writing, but may be given orally in certain 
cases by the Chief Constable.  A written authorisation lasts 3 months; one 
issued orally lasts 72 hours, and either can be renewed in writing for a further 


 3 months without limit on the number of renewals. 


 Procedures under the Police Act 1997 are supervised by the Surveillance 
Commissioners, headed by the Chief Surveillance Commissioner (a senior 
judge).  The Chief Surveillance Commissioner reviews actions taken and 
makes an annual report to parliament.  This can be edited by the Prime 
Minister before it is presented. 


 Every authorisation must be notified to a Commissioner. 


 Prior approval must be obtained from a Commissioner if the property is a 
dwelling house, a hotel bedroom or offices premises, or if the action is likely 
to reveal matters which are subject to legal privilege, confidential personal 
information or confidential journalistic information.  Prior approval can be 
dispensed with in urgent cases. 


 Regulation of Investigatory Powers Act 2000, Part II, provides the legal basis 
for actions not covered by the PA 1997, and also deals with covert 
surveillance. 


 Covert surveillance is defined (s.26) to include monitoring observing and 
listening to people's movements, conversations or other activities, recording 
anything monitored, etc., and the use of electronic surveillance devices. 


 Section 26 draws a distinction between surveillance and intrusive 
surveillance. 


 Directed surveillance is surveillance conducted for the purposes of a 
particular operation which is likely to result in obtaining private information 
about a person.  Directed surveillance can be authorised by a superintendent 
or in urgent cases, by an inspector. 


  







© WJEC CBAC Ltd. 


107 


 


 Intrusive surveillance involves placing surveillance devices in residential 
premises or a private vehicle.  It requires authorisation from a chief constable 
under a system similar to the authorisation procedure under the Police Act 
1997.  Authorisation lasts for 3 months and can be renewed indefinitely. 


 Powers to conduct directed surveillance are given to a wide range of bodies 
including the Department of Social Security, Department of Trade and 
Industry, and also to local authorities. 


 There is a Tribunal, the RIPA Tribunal, which hears complaints.  It is the only 
body which has jurisdiction in proceedings brought under the HRA 1998, and 
ousts the jurisdiction of the ordinary courts.  The Tribunal can only consider 
whether authorisation was validly given, and not whether the action itself was 
justified.  It can give no reasons for its decision, and there is no appeal. 


 In theory, the Tribunal has power to order the cessation of surveillance and 
destruction of such material already obtained as it is not needed by the police.  
However, most targets are not aware they are under surveillance, and it is 
impossible to show that surveillance was undertaken without authorisation.  It 
is believed that no complaint from a member of the public has ever 
succeeded.  
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Marks 
AO1 


Knowledge and Understanding 


8-9 Candidates display a sound knowledge and understanding of the subject 
content relevant to the question and a good perception of the concepts and 
principles underlying that subject content.  They display a sound 
understanding of the practical application of the law and are aware of 
current debate and criticism, including the major proposals for reform. 


6-7 Candidates display an adequate knowledge and understanding of the 
subject content relevant to the question and have a perception of some of 
the concepts and principles underlying that subject content.  They display a 
general understanding of the practical application of the law and are aware 
of aspects of current debate and criticism. 


3-5 Candidates display a limited knowledge and understanding of the subject 
content relevant to the question with limited insight into some of the concepts 
and principles underlying that subject content.  They display a limited 
understanding of the practical application of the law and are aware in general 
terms of some of the current criticisms. 


0-2 Candidates display a basic knowledge and understanding of the subject content 
relevant to the question and/or identify some of the relevant principles.  They 
demonstrate occasional basic insights into some of the concepts and principles 
underlying the subject content.  They display a basic understanding of the 
practical application of the law. 
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Marks 
AO2 


Skills 


11-13 Candidates demonstrate a sound evaluation of how the law operates, or an 
accurate and well-substantiated application of the law to a given factual 
situation. 
This is achieved through their selection of legal authorities, by appropriate 
methodologies and by their ability to apply the law to a given question.  They 
support their conclusions by citation, analysis and analogy. 


7-10 Candidates demonstrate an adequate evaluation of how the law operates, or a 
generally accurate and substantiated application of the law to a given factual 
situation.  This is achieved through their selection of legal authorities, by 
appropriate methodologies and by their ability to apply the law to a given 
question. They support their conclusions by citation. 


3-6 Candidates demonstrate a limited evaluation of some of the points of how the 
law operates, or apply the law to a given factual situation in a partly accurate 
and occasionally unsubstantiated way.  This is achieved through a limited 
selection of legal authorities and limited ability to apply the law to a given 
question. 


0-2 Candidates demonstrate a basic evaluation of one of the simpler points of how 
the law operates or apply the law to a given factual situation in a generally 
inaccurate and unsubstantiated way.  There will be little or no reference to legal 
authorities and points will not be developed.  There will be very limited evidence 
of structure in the candidate's response. 


 


Marks AO3 


3 Presents a wholly logical and coherent argument and provides clear application 
using appropriate legal terminology.  This does not mean that there are no 
errors in grammar, punctuation and spelling but these will only be occasional. 


2 Presents a mostly logical and coherent argument and provides a reasonably 
adequate application using appropriate legal terminology.  Whilst there may be 
errors in grammar, punctuation and spelling, these are not enough to detract 
from a mostly effective communication of meaning. 


1 Presents effective communication using appropriate legal terminology. 
Nonetheless, there may be several errors in grammar, punctuation and spelling, 
although not enough to detract from communication of meaning. 


0 Fails to communicate and present logical argument, including inadequate use 
of legal terminology.  There are significant errors of grammar, punctuation and 
spelling which detract from communication of meaning. 


 
  





		Blank Page

		Blank Page

		Blank Page






© WJEC CBAC Ltd. 


113 


Q.6 Study the text below and answer the questions based on it.  
 
 “The European Court of Human Rights treats the Convention as a living 


instrument which must be interpreted in the light of present day conditions. 
This means that the doctrine of precedent does not operate in the way that 
stare decisis operates in Common Law jurisdictions. Instead, the Court regards 
its previous decisions as a starting-point rather than as binding precedent and 
any part of the judgment may provide guidance for the interpretation of the 
Convention in later cases.” 


 
(a) Explain the nature of the European Convention on Human Rights. [11] 


 
Credit reference to: 


 Origins and nature of the ECHR: Treaty of Rome produced by the 
Council of Europe and signed in 1950 in the wake of World War II. 


 European Court of Human Rights in Strasbourg. 


 Enforcement – under Art.33, a state which is a party to the ECHR 
may bring an application against another state which is a party, 
e.g. Ireland v UK. Under Art. 34, individuals, groups of individuals 
or non-government organisations may bring an application alleging 
they are a victim of a violation by a member State. 


 Issue of a judgement that state’s laws are in contravention of the 
ECHR imposes an obligation upon that state under international 
law to bring its law into line with the ECHR.  


 Content of the ECHR: examples of Articles. 


 Limitations of the ECHR, e.g. it does not deal with political and 
social rights, states may derogate from the ECHR under Art.15, 
the majority of articles give qualified and not absolute rights.  


 Horizontal and vertical effect: application can only be bought 
against a member state, but indirect horizontal effect may follow 
from the obligation for the law of a state to comply with the ECHR.  


 Significance of the ECHR in UK law: is enshrined in UK law via the 
Human Right Act 1998; judges obliged to interpret the law in a way 
which is compatible with Convention rights and have regard to 
Strasbourg jurisprudence.  


 


Marks AO3 


2 Presents a wholly logical and coherent argument and provides clear application 
using appropriate legal terminology.  This does not mean that there are no 
errors in grammar, punctuation and spelling but these will only be occasional. 


1 Presents a mostly logical and coherent argument and provides a reasonably 
adequate application using appropriate legal terminology.  Whilst there may be 
errors in grammar, punctuation and spelling, these are not enough to detract 
from a mostly effective communication of meaning. 
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Marks AO1 


 Knowledge and Understanding 


8-9 Candidates display a sound knowledge and understanding of the subject 
content relevant to the question and a good perception of the concepts and 
principles underlying that subject content.  They display a sound understanding 
of the practical application of the law and are aware of current debate and 
criticism including the major proposals for reform. 


6-7 Candidates display an adequate knowledge and understanding of the subject 
content relevant to the question and have a perception of some of the concepts 
and principles underlying that subject content.  They display a general 
understanding of the practical application of the law and are aware of aspects of 
current debate and criticism. 


3-5 Candidates display a limited knowledge and understanding of the subject 
content relevant to the question with limited insight into some of the concepts 
and principles underlying the subject content.  They display a limited 
understanding of the practical application of the law and are aware in general 
terms of some of the current criticisms. 


0-2 Candidates display a basic knowledge and understanding of the subject content 
relevant to the question and/or identify some of the relevant principles.  They 
demonstrate occasional basic insights into some of the concepts and principles 
underlying the subject content.  They display a basic understanding of the 
practical applications of the law. 
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Q.6 (b) Evaluate the operation of judicial precedent in the law of England and 
Wales. [14] 
 
Credit reference to: 


 Explanation of precedent: stare decisis – decisions of higher 
courts are binding on lower courts in like cases 


 Types of precedent: original, binding and persuasive precedent 


 Hierarchy of the criminal courts: Supreme Court follows its own 
previous decisions; Court of Appeal bound by Supreme Court and 
own previous decisions apart from exceptions in Young v Bristol 
Aeroplane; Divisional Court bound by same rules as Court of 
Appeal (Criminal Division) when hearing appeals by way of case 
stated; Crown Court and Magistrates’ Court bound by superior 
courts and do not make precedent themselves.  


 Practice statement of 1966: Supreme Court can depart from a 
previous decision where it appears right to do so. e.g, Anderton v 
Ryan overruled by Shivpuri. Court of Appeal (Criminal Division) will 
also depart from its own previous decisions to avoid an injustice. 


 Following, distinguishing, disapproving, avoiding, overruling, 
reversing. 


 Importance of precedent generally: promotes consistency in the 
law; promotes rationality because it requires judges to give 
reasons for their decisions; promotes fairness because like cases 
are treated alike; enables people to know what the law is and 
assess the legal consequences of their actions; assists lawyers to 
advise clients, etc. 


 Importance of precedent in criminal law: enables the superior 
courts to adjust (sometimes change) the criminal law when 
necessary to achieve justice. 


 Examples of precedent and departure from precedent in criminal 
cases, e.g. Maloney, Nedrick, Hancock and Shankland, Woollin, 
Majewski, Gladstone Williams, etc. credit should be given for all 
relevant material including effect of decisions of the European 
Court of Human Rights, other jurisdictions, etc.  


 


Marks AO3 


1 Presents effective communication using appropriate legal terminology.  
Nonetheless, there may be several errors in grammar, punctuation and 
spelling, although not enough to detract from communication of meaning. 


0 Fails to communicate and present logical argument, including inadequate use 
of legal terminology.  There are significant errors of grammar, punctuation and 
spelling which detract from communication of meaning. 
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Marks AO2 


 Skills 


11-13 Candidates demonstrate a sound evaluation of how the law operates, or an 
accurate and well-substantiated application of the law to a given factual 
situation, making an entirely convincing synoptic connection with elements of 
skills gained in understanding legal reasoning, personnel and methods and 
understanding legal values, structures and processes.  This is achieved 
through their selection of legal authorities, by appropriate methodologies and 
by their ability to apply the law to a given question.  They support their 
conclusions by citation, analysis and analogy. 


7-10 Candidates demonstrate an adequate evaluation of how the law operates, or 
a generally accurate and substantiated application of the law to a given 
factual situation, making a convincing synoptic connection with elements of 
skills gained in understanding legal reasoning, personnel and methods and 
understanding legal values, structures and processes.  This is achieved 
through their selection of legal authorities, by appropriate methodologies and 
by their ability to apply the law to a given question and support their 
conclusions by citation. 


3-6 Candidates demonstrate a limited evaluation of some of the points of how the 
law operates, or apply the law to a given factual situation in a partly accurate 
and occasionally unsubstantiated way, making a limited synoptic connection 
with elements of skills gained in understanding legal reasoning, personnel 
and methods and understanding legal values, structures and processes.  This 
is achieved through a limited selection of legal authorities and limited ability to 
apply the law to a given question. 


0-2 Candidates demonstrate a basic evaluation of one of the simpler points of 
how the law operates or apply the law to a given factual situation in a 
generally inaccurate and unsubstantiated way, making some basic synoptic 
connection with elements of skills gained in understanding legal reasoning, 
personnel and methods and understanding legal values, structures and 
processes.  There will be little or no reference to legal authorities and points 
will not be developed.  There will be very limited evidence of structure in the 
candidate's response. 
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